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Cuadro 6 (continuación 6)/Table 6 (continued 6)
Colombia: tablas abreviadas de mortalidada

 Colombia: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.022 0.021  100 000  2 130  98 142 0.975 b 6 969 502 69.7
1 4 0.002 0.008  97 870   819  389 216 0.995 c 6 871 360 70.2
5 5 0.000 0.002  97 051   194  484 771 0.998 6 482 145 66.8

10 5 0.001 0.003  96 857   265  483 623 0.994 5 997 374 61.9
15 5 0.002 0.010  96 592   991  480 483 0.985 5 513 751 57.1
20 5 0.004 0.020  95 601  1 900  473 254 0.978 5 033 268 52.6
25 5 0.005 0.023  93 701  2 177  463 060 0.978 4 560 013 48.7
30 5 0.004 0.021  91 524  1 953  452 735 0.980 4 096 953 44.8
35 5 0.004 0.019  89 571  1 704  443 593 0.981 3 644 217 40.7
40 5 0.004 0.020  87 867  1 714  435 048 0.978 3 200 625 36.4
45 5 0.005 0.024  86 153  2 081  425 560 0.971 2 765 577 32.1
50 5 0.007 0.034  84 071  2 861  413 204 0.958 2 340 017 27.8
55 5 0.010 0.051  81 210  4 118  395 757 0.937 1 926 813 23.7
60 5 0.016 0.077  77 093  5 919  370 665 0.904 1 531 056 19.9
65 5 0.025 0.116  71 173  8 265  335 203 0.857 1 160 391 16.3
70 5 0.038 0.174  62 908  10 926  287 224 0.790  825 188 13.1
75 5 0.058 0.255  51 982  13 243  226 803 0.699  537 964 10.3
80 5 0.089 0.363  38 739  14 059  158 550 0.585  311 161 8.0
85 5 0.134 0.496  24 680  12 249  92 779 0.454  152 611 6.2
90 5 0.198 0.643  12 431  7 998  42 161 0.332  59 832 4.8
95 5 0.255 0.738  4 433  3 271  13 988 0.208 d  17 672 4.0

100 ω 0.315 1.000  1 162  1 162  3 684  3 684 3.2
Mujeres/Females

0 1 0.016 0.016  100 000  1 552  98 608 0.981 b 7 700 304 77.0
1 4 0.002 0.007  98 448   679  391 946 0.996 c 7 601 696 77.2
5 5 0.000 0.002  97 769   171  488 419 0.998 7 209 751 73.7

10 5 0.000 0.001  97 598   145  487 629 0.998 6 721 332 68.9
15 5 0.001 0.003  97 453   251  486 639 0.997 6 233 702 64.0
20 5 0.001 0.004  97 202   348  485 141 0.996 5 747 063 59.1
25 5 0.001 0.004  96 854   407  483 255 0.995 5 261 922 54.3
30 5 0.001 0.005  96 448   474  481 054 0.994 4 778 667 49.5
35 5 0.001 0.006  95 974   605  478 358 0.992 4 297 613 44.8
40 5 0.002 0.009  95 369   856  474 706 0.989 3 819 256 40.0
45 5 0.003 0.014  94 513  1 287  469 349 0.983 3 344 550 35.4
50 5 0.004 0.021  93 226  1 987  461 164 0.973 2 875 200 30.8
55 5 0.007 0.034  91 239  3 077  448 503 0.957 2 414 037 26.5
60 5 0.011 0.053  88 162  4 710  429 036 0.932 1 965 533 22.3
65 5 0.018 0.084  83 452  7 028  399 692 0.893 1 536 498 18.4
70 5 0.028 0.131  76 425  10 040  357 023 0.836 1 136 805 14.9
75 5 0.045 0.201  66 385  13 368  298 502 0.755  779 782 11.7
80 5 0.070 0.300  53 016  15 927  225 263 0.646  481 280 9.1
85 5 0.110 0.431  37 089  15 974  145 509 0.514  256 017 6.9
90 5 0.170 0.584  21 115  12 338  74 728 0.374  110 508 5.2
95 5 0.247 0.727  8 777  6 377  27 940 0.219 d  35 780 4.1

100 ω 0.306 1.000  2 399  2 399  7 840  7 840 3.3

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


